


2002 All rights reserved

Pageplan number

PI-2001 1/6



2002 All rights reserved

Pageplan number

PI-2001 2/6



2002 All rights reserved

Pageplan number

PI-2001 3/6



2002 All rights reserved

Pageplan number

PI-2001 4/6



2002 All rights reserved

Pageplan number

PI-2001 5/6



Quotation report
API-2002
Item description LocationShipping Pricing

Materials

1/2" Select plywood Structure 2.0 sheets 64.00 sqft

Spruce 2 x 2 x 8' Structure

Hardware

1 1/4" No.8 nickel plated wood screws Hardware

3/16" x 3" Plated carriage bolts Hardware

3/16" x 4" Plated carriage bolts Hardware

3/16" Plated washers Hardware

3/16" Plated wing nuts Hardware

12.00 pieces

16.00 pieces

28.00 pieces

28.00 pieces

Quantity

3.00 pieces

100.00 pieces

2002 All rights reserved

Pageplan number

PI-2001 6/6


